Week 15

Again an old edging from the patterns of y grandmother. You need 15 pairs of bobbins with DMC
80 or similar.
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The edging looks more complicated than it really is. A braid in cloth stitch along the edge, 2 plaits
crossing each other and two other braids in cloth stitch. The plaits are crossing the cloth stitch
braids as described in week 47 of 2014 and they cross each other in a 4-pairs crossing (cloth stitch
with whole pairs). The workers of the cloth stitch braids and the braid along the edge are
connected to each other with whole stitch, pin, whole stitch. The workers continue in their own
braid. The crossing of the braids has to be worked as follows:

Let the workers aside of the pin in the middle of the vertical lines in the centre of the motif. The
hanging pairs are worked through each other as the first half of a spider. Then you can continue
the braids. The hanging pairs follow the same direction as before the crossing and the workers
swapped braids.

The plaits are connected to the workers of the braid along the edge in a 3-pairs crossing (week
46-2014). At the points at the outside are false picots made in the braids by twisting the workers 4
times in stead of twice, and real picots in the plaits.

Have fun with the nice little edging.



